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BESAI> O FHE = 26.338948814807tF BESAI>OY FHE = 19.228687121475tF BESAI> Oy FHE = 17.691333241835tF BESKI> Oy FHE = 16.200333680078tf
BESKISUHHE = 25.867749032807tF BESKYSUHHE = 18.884688838030tF BESKISUHHE = 17.374837985116tF BASKISVH/HE = 15.830353638072tF
a RV ) 7y -, ¢ =1200rpm I VEEH =1900rpm a RV ) 7y -, ¢ =2050rpm IO vmEH =2200rpm
kef EZ kY ESEE = 16.041095621136m/s EZ bV ESEE = 25.398401400131m/s EZ kY ESEE = 27.403538352773m/s EX L YEYEE = 29. 408675305415m/s
EESR a0y FEARERBTS T ([ v ohr—a— L BENDER) BTEISAEME S (EEs) = 7.531985851573tF BTEISAES S (Ees) = 18.882270086234tF BRI A H (I0es) = 21.981368431412tF ATEIS A S (nkes) = 25. 315841334452t
28500 BifBIS/MEM D GeEes) = -8.087501781770tf BTEIS/MEE 7 (GREERE) = —20. 274917661243t BrEIS/METE S GREEES) = —23. 602587665200t f BTEIS/IMEN 5 GRERS) = -27. 182992099838t
% A N O AR LS H GEEEEASM)= 26.512311691306tF EIBAS S GEEEEARM)= 22 406377305573tF WMARAS H (EEEEAR)= 21.285286926058tT SRS 5 (EEEEAR)= 24. 778660020780t F
HTEISR/INE S GEEEEAR)= —6. 850366916605t BTEIS/INE S GEEIEEAR)= —4. 022953151824t BTEISR/INE H GEEIEEAR)= -7. 122051497002t F RIEIR/NA 5 GEEEEAF) = —10. 4565624400042t
21860 -~ N - T mESAO > O FiE = 25.814619278377tF WESAa> Oy FfrE = 21.816735797532tF mESAO > Oy FirE = 20.725147796425tF BB Aa> Oy FErE = 24.126590020233tf
1.7 M A N Y ) O O O O O i WMERAS S HE = 25 411731703167tF WMEBKS S o HE = 21.476243005844tF WMERKS S HE = 20.401691368441tF HEBKT S e = 22.440824153041tF
T Y A O o O O SEBAEED (R = 8.087501781770tF  SEBXEED (UEE) = 20.274917661243tF  SEEKEED (UEE) = 23.602587665200tF  EEIBKMEED (MR = 27.182992009838tF
BEIS/MSES GREEE) = -7.349695363601tf BEIS/MSE S GREEE) = -18. 425277960364t F BEIS/MSE S GREEES) = -21.449371365216tf BAEIS/MEN S GEEE) = -24. 703142750183t
26900 -~ - R bk bk B e T B R BESEASH EREAR)= 25.350454150141tF HBABAS S (EEEEAR)= 19.493665020075tF BEBXASH (EEEAR)= 17.894518676805tF BEB KA S EREAR)= 17. 122070597040t f
26580 - - - |- - S ) BES/IED GEEEEAR)= -6.930622261299tF BAENEH EREEAR)= -3.565961025953tF BES/NEH GEREEAM)= —6. 590054430805t F BEIB/NEH GEEEEAR)= -9. 843825815772t F
BEB XD Oy FE&E = 24.683336944426tF BEBAOYOY FEE = 18.980673835336tF BEB XD Oy FE&E = 17.423610290573tF BEBAKI Oy FHE = 16.671489791854tF
262601 ~ |~ - =d=4=1=4=1=4=1=1=4=1- BEARKISUHEE = 24.241755806583tF BEBKI S HE = 18.641112471809tF BEBXSSUSHE = 17.111904556669tF BABKISVIHE = 16.290749579010tF
259407 L NN I UEER =1500rpm I o VEEHR =1925rpm I VEER =2075rpm I o UEEHR =2225rpm
25620 ER b E8EE = 20.051369526420m/s EZ b2 FRE = 25.732590892238m/s EZ k2 EHEE = 27.737727844880m/s EZ kY FEEE = 29.742864797522m/s
25300~ -~ - e e e B B e e e e BRI AIE M h (hoEes) = 11.768727893082tf BTRISAEE A (osEes) = 19.382441021690tF BRI RIS h (IoseEs) = 22.520768459845tf BTRIS IR S (InsEEs) = 25, 894470455862t F
249801 - - - - - N .. R /IMERE h (BUERS) = -12. 636721534016tf RiT{EIS/IME N 0 GRIERS) = -20. 811978326439tf AR /IMEREh (BUERS) = -24. 181770735509t HTEIS/IMEE ) GRkrE) = -27. 804297575261tf
BIEIFEAS ) (EREAR)= 24.979681805387tf RIS ASh GEEEsAE)= 22. 225441832930t f RIS AS N GEEEsAE)= 21.816681168322tf RIfIRAS 7 (EEEEA )= 25. 392044086137tf
24660 - - =A== A=4=14=-14-1-4-4- RIS/ S A GERESAA)= 4. 985423238642t T EEIS/NE S GEREEAE)= —4.523124087280tF EEIS/NE S GERlEE A= -1, 661451525435tF BTSN E 5 GEEIEEA) = —11. 035153521452t f
24340 - |- - S U O B 41 WMER KOS Oy REE = 24.322321757877tF WMES KOOy REE = 21.640561784695tF WMESR KOS Oy REE = 21.242557979681tF HEB KO0y REE = 24.723832399660tf
BESAYSVOHE = 23.942724401401tF BESAY SV HE = 21.302818532719tF BESAY SV HE = 20.214664975855tF RIS RY SV HE = 23.004214412679tF
24020- - - AT AT BESAE®E S (=) = 12 636721534016tF BEBAEN S (nEE) = 20.811978326439tF BESAEME S (OkEEF) = 24. 181770735509t f BEISKAEME S (k) = 27.804297575261tf
23700F - L - | - S [ U U 7 S HESNMER S GRErE) = -11. 48389900576 7tF HESVER S GREEE) = -18. 913343668109t F HESNMER S GREEE) = —21.975716736313tf HEEISMEE ) GRErE) = -25. 267767784633t f
233601 I |- - B U U O O 0 O O SEBASH (EEkGAME)= 23.164279411379tF  SEBXAH (EE#M)= 19.235574945686tF @B AEH (EEkAMA)= 17.616186243641tF  #EBAEH (EEEE)= 17. 611490829906tF
BEENS S GEEEAR)= -5. 110822214728tF BEIR/INE S EEEAR)= -4.0564026733698tF BES/NEH EEEAR)= -1.116399801903tF #AIR/INA S GEEEEAF)= -10. 408450850223t f
23060~ - R R b B R R 28 B R BESAI> O FHE = 22.554693111079tF BESAI>OY FHE = 18.729375605011tf BESAI> O FHE = 17.152602395124tF BEBKI> O FarE = 17. 148030544908t f
99740 - - - S O A BESXSSV/HE = 22.151193087151tF BEBXS S /HE = 18.394309928543tF BESKXISUHHE = 16.845744951186tF BEUBKI S E = 16.756407187846tF
22420 - - ke S AV} 77y - ¢ =1800rpm VAV 1) 7y ¢ =1950rpm AV} 77y - ¢ =2100rpm T oo vEEEH =2250rpm
29100 — - - - S 4 ER b EEeE = 24.061643431704m/s ER b EEE = 26.066780384346m/s ER b EEeE = 28.071917336987m/s ER N ESEE = 30.077054289629m/s
L L BN 2R BRI S S (0EEs) =  16. 946968166038tF BTSN S (Ee) = 19, 889150139309t BRI AE N S () = 23.066706670441tF BRSBTS 5 (Inskrs) = 26. 479637759435t F
21780 BTl MEE A GREE) = -18. 196879008983t F BifBIS/METE A GREE) = -21. 356059392486t 7 B/ MEE N GREE) = —24. 767974206671 tF HIIS/MEM S GHizEEs) = —28. 432623451535tF
21460 - - | - S N 8 U i AR LS H GEEEEASM)= 23. 106467500375t F MEIBAS S GEEEEAR)= 22.042141190710tF WA LS H GEEEEASM)= 22.394432693287tF BB LA 5 GEElEEAR)= 26.012359044889tF
3 Y o, " 20 O O AN S GEEEAM)= -2. 706047632244t F EISINE S (FBEEARM)= -5.029833204898tF AN S GEEEEAM)= -8. 207389736031tF IR/ F EEIEEAR) = -11. 620320825024t f
N / S AT Oy FE = 22.498402566155tF BES AT Oy FHE = 21.462084843586tF BiESEAO> Oy FHE = 21.805105517148tF Bl Rka >0y FHE = 25.327823280550tF
20820F -~ N 1 WMERKS S HE = 22.147271032576tF WMEBKY S HE = 21.127127073017tF WMERKS S HE = 20.268461441712tF HEBKY S 8= = 23.577092035229tF
20500 BISAEEH (nEEs) = 18.196879008983tf BESAERES (NEE) = 21.356059392486tF BEISAEMESN () = 24.767974206671tf BASKENE S (NEE) = 28.432623451535tF
e S8 S88888KRE LS R L RS re R Rre R8s BEIS/MSTE S GREEES) = -16. 536814568304tf BEIS/MSE S GREEEF) = -19.407789319746tF BEIS/MSE S GRIEES) = —22. 508442051303tf BAIS/MEN S GHEE) = -25. 838772762975t F
PPN R RR22228ISIIIIIIINNT BABASH (EEEEARE)= 20.492288053003tF BAIBAEH (EEEEAM)= 18.974111144835tF ®EIBAESH (EREAR)= 17. 334480084014t F #EBAS N (EEEEAE)= 18, 106441234895t
AR/ EH HEEAR)= —2.886622157807tF BES/IEH (HEEAR)= -4.548472385335tF BES/NEH GEEEAR)= -7.649125116892tF BAIS/NE S GEEEEAR) = -10. 979455828565t F
#BEB XD Oy FE&E = 19.953017314766tF BEBADYOY FEE = 18.474792430498tF BEB XD Oy FE&E = 16.878309555487tF BEBAKI Oy FHE = 17.629955939240tF
BEBXISUHHE = 19.596060874512tF BEBXSS/HE = 18.144281208240tF BEBXSSUHHE = 16.576359168667tF BABKISVIHE = 17.221326464577tF

avoy FERRAER, 1 oO7r—4—LEBEUADERELGY, 205 0MEFTETLTASERLET ., EHERARNEER%E2 05 0MiE, BAAHGEHZ*205 0EELERELET .



—ffE= 1E—
E7= 14. 86tf
1E=-21. 98tf
&= -7 12t

—fAE=- 28—
E 7= 15.81tf
{B1E=—21. 45tf
&= -5. 64tf
—fE=- 3E—

FE A= 16. 76t
1EE=-21. 16tf
&= -4 4t
—AE= AE—
EA= 17.70tf
1B 14=—20. 87t f
&= -3 17tf
—fE=- SE—

FE A= 18. 65tf
1814$=-20. 57tf
&= -1.91tf
—fAE= 6FE—
E 7= 19. 60tf
1B 14=—20. 25t f
&= -0. 65tf
—fE= TE—

FE A= 20.55tf
1EE=-19. 93tf
&= 0.62tf
—fAE= 8F—
E7= 21. 49tf
{B1E=—19. 60t f
&ri= 1.80tf
—fE= OfF—

FEA= 22. 44tf
1EE=-19. 27tf
&= 3.17tf
__ﬁgz 10E_
FE 7= 23.39tf
{E1=—18. 93tf
&ri= 4 46tf
—AE= 11E—

FE A= 24. 34t
1814$=-18. 59tf
&M= 5. 75tf
__ﬁgz 12E_
E 7= 25. 29tf
18 1E=—18. 25tf
&= 7.04tf
— A= 13—

FE A= 26. 23tf
1EiE=—17. 90t f
&= 8.33tf
__ﬁgz 14E_
EA= 27.18tf
18 1=—17. 55tf
&= 9.63tf
—fAE= 15—

FEA= 28.13tf
1EiE=—17. 20tf
&= 10. 93tf
__ﬁgz 16E_
FE A= 28. 86tf
15 1E=—16. 85tf
&= 12.00tf
— A E= 17—
E 7= 29. 24tf
{B1E=—16.51tf
| Ri= 12. 713tf
__ﬁgz 18E_
FE A= 28. 86tf
18 1E=—16. 16t
&= 12. 70tf
— = 19—
FE 7= 28. 48tf
{E1E=—15. 81tf
| = 12. 67t

EA= 27 72tf
B 1%E=-15. 12tf
&= 12, 60tf

EiE=—14. 78tf
S R= 12.56tf
__ﬁgz 23§_
E 7= 26.96tf
BiE=-14. 44t
A= 12, 53tf

fEtE=-14. 10tf
A Hi= 12. 48tf

—ﬁg: 25&--

[EA= 26. 20t
fE1=-13. 77tf
Apk= 12. 44tf

= 26FF—

—AE

E 7= 25. 60tf
{E1%E=-13. 44tf
€= 12. 17tf

—ﬁg: 27&--

[EA= 25.04tf
fE=-13. 11tf
&= 11.93tf

{E1E=-12. 19tf
€= 11. 68tf

—f = 20—

[E A= 23.90tf
fE1=-12. 47tf
a= 11. 43tf

— &= 30—

E = 23.33tf
{E1E=-12. 15tf
€= 11.18tf

—AE= 31E—

[EAH= 22.76tf
fE1E=-11. 84tf
k= 10.92tf

—ﬁg: 32&--

E A= 22. 19tf
{E1%E=-11.53tf
A pk= 10. 66tf

—AE= 33FE—

[EAH= 21.62tf
fE=-11. 23tf
&= 10. 39tf

— = AR

E A= 21.05tf
{E1%E=-10. 93tf
A pk= 10, 12tf

—AE= 35—

[EA= 20.49tf
fE1=-10. 64tf
&= 9. 85tf

{Ei#E=-10. 35tf
&= 9.54tf

—AE= 31E—

E A= 19.32tf
{E1%£=-10. 06tf
emz- 9. 26tf

= 38FE—-

EjJ— 18. 75tf
{E8= 9. 78tf
&= 8.97tf

{Bit= 9. 50tf
Ank= 8.68tf

&= A0fE—

—f
l:T:jJ‘ 17.61tf

{Eit= 8. 69tf
&= 1.78tf

= A3

—f
E 7= 15. 90tf
{EiE= -8. 43tf

{Eit= -7. 92tf
&= 6. 85tf

LY):3
EjJ- 13 60tf
= -7. 42t

&5
— A= 88—

[EAH= 13.22tf
f81E= 7. 18tf
EHi= 6. 04tf

EX b ERAEEFT2050rpm

— A= A9FE—
E 7= 12. 84tf
{Ef4= 6. 94tf
EH= 5.90tf

[=]

—AE= b1E—
[E 3= 12. 08t
{51%= -6. 47t
&= b5.61tf
— A= 52—
E 7= 11.710tf
{E1E= -6. 24t
&m= b.46tf
—fE = H3RE—
[E A= 11.32tf
{E1%= 6. 01tf
&= b5.31tf
——ﬁﬁ: 54&--
E71= 10. 94tf
{E1t4= -5. 19tf
&m= b5.15tf
— A= 55—
[E A= 10. 76t
{E1%= -5. 57t
&= b5.18tf
—ABE= b6E—
E

=

&H= b5.18tf
— A= 51—
[E A= 10. 35t
{51%= -5. 14t
&m= 5.21tf
—fE = HRRE—
E 7= 10. 16tf
{EiE= 4. 92t
&= b5.23tf
— A= 50—
EA= 9.97tf
{E1%= 4. 71t
&m= b.25tf
——ﬁﬁ: GOE__
Eh= 9.78tf
{51%= 4. 50t
&= 5.27tf
—A = 61—
[EA= 9.59tf
{E1$= -4. 30tf
&m= 5.20tf
—fE = 62RE—
E7= 9.40tf
{51%= 4. 09t
&= 5.30tf
— A= 63—
EA= 9.21tf
{E14= -3. 80tf
&m= 5.32tf
—AE= 64E—
FEH= 9.02tf
{51%= -3. 60t
&= b5.33tf
— A= 65—
E5= 8.83tf
{E1E= -3. 49t
A= b.34tf
—fE = GORE—
[EA= 8.61tf
{51%= -3. 30t
&= b5.31tf
— A= 61—
E5= 8. 42tf
{E1$= -3. 10tf
&mM= 5.32tf
— A= 68—
[EA= 8.23tf
{E1%= 2. 91tf

EH= 8.04tf
{Ei%= -2. 11tf
A/= 5.33tf
—f = J0E—
EAh= 7.85tf
0= -2. 52tf

__ﬁ E: 73§_
Ehn= 7. 28tf
B= 1. 95t
&= b5.33tf
— = TAEE—
E5n= 7.09tf
Bi= -1. 76tf
&M= 5.33tf
__ﬁ E: 75§_
FEA= 6.90tf
1B1= -1.57tf
&= b5.33tf
— = 76—
E7= 6.68tf
1Bi= -1. 38t
&M= 5.30tf
__ﬁ E: 77§_
FEA= 6.49tf
B= 1. 20t
&= b5.30tf
__ﬁ E: 78§_
Ej= 6.30tf
BiE= -1.01tf
&M= 5.20tf
— = 19—
FEA= 6.11tf
1B14= -0. 82tf
&= b5.29tf
__ﬁ E: SOE_
E7= 5 92tf
1Bi1%= -0. 63tf
&= b5.29tf
—fAE= 81—
FEA= b5.82tf
1B1%= -0. 45t
&M= 5.37tf
__ﬁ E: SZE—
FEJ= 5 74tf
1BiE= -0. 26t
&= b.48tf
— = 83—
FEA= b5.66tf
1B1%= -0.07tf
&m= b5.60tf
__ﬁ E: 84E_
FE7= 5.50tf
Bi= 0.12tf
&= 5.71tf
—f = 8FF—
FEA= b5.51tf
= 0.31tf
&M= b.82tf
__ﬁ E: SGE—
Ej= 5 41tf
B1= 0.50tf
&= 5.91tf
— = 81—
FEA= b5.33tf
0. 69tf
6. 02tf
__ﬁ E: SSE—

H1= 5. 26tf
= 0.88tf
&= 6.14tf
— = 80FF—
Ej= 5. 18tf
BiE= 1.07tf
&M= 6.25tf
__ﬁ E: QOE—
FEA= 5.10tf
Bi= 1.27tf
&= 6.37tf
— A E= 91—
E7= 5.00tf
BiE= 1.46tf
A= 6. 46tf

_ﬁgz g7§_
EA= 4 48tf
Bit= 2. 65tf
&= 7.13tf
— A= 98—

A= 4 40tf
{BiE= 2 85tf
A= 7. 26tf
_ﬁgz ggﬁ_
EAH= 4.2]tf
181= 3. 06tf
&= 7.32tf
— A E=100E—
EA= 4.19tf
= 3. 26tf
&= 7. 45tf

— A E=101E—
EAH= 4.12tf
181= 3. 47tf
&ri= 7.59tf
—HE=102—
EA= 3.98tf
iEiE= 3. 68tf
&= 7.66tf

— A E=103E—
FEA= 3.90tf
Bit= 3.89tf
&= 7.19tf

— A E=104E—
EAH= 3. 83tf
BiE= 4. 10tf
&= 7.93tf

— A E=105—
EAH= 3.60tf
Bit= 4.31tf
&= 8.00tf

— A E=106E—
EA= 3. 61tf
{BiE= 4. 53tf
&= 8. 14tf

— A E=101E—
FEAH= 3.54tf
Bit= 4. 74t
&= 8. 28tf
— A E=108E—
EA= 3. 40tf
fEiE= 4 96tf
&ri= 8. 36tf

— A =109 —

H= 3. 32tf
Bit= 5. 18tf
&= 8.50tf

— A E=110E—
EAH= 3. 25tf
fB1t= 5. 39tf
&ri= 8. 64tf

—AE=-111E—
EAH= 3.18tf
{BiE= 5. 61tf
&= 8.79tf

— A E=112E—
FEA= 3.14tf
1§= 5. 83tf
&ri= 8.98tf

— A E=113E—
EA= 3.10tf
= 6. 05tf
&= 9.16tf

— A E=114E—
FEA= 3.04tf
Bit= 6.27tf
&= 9.31tf

— A E=115E—
EA= 3.00tf
= 6. 49tf
&= 9.49tf
— A E=116E—
FEA= 2.96tf
Bit= 6. 72tf
&= 9.67tf

—AE=111E—
EA= 2 89tf
{BiE= 6. 94tf
&= 9.83tf
— A E=118E—
FEAH= 2.85tf
Bit= 7.16tf
&= 10.01tf
—ﬁg:]]gﬁ—
EAHh= 2 82tf
{Bie= 7. 37tf
&= 10. 19tf
— A E=120—
EA= 2. 75tf
Bit= 7.59tf
&= 10. 34tf

—ﬁﬁ=121ﬁ——
Ehn= 2.71tf
{gi= 7.81tf
&= 10.52tf
— A =122 —
Ehn= 2.67tf

= 8. 02tf
A= 10. 69tf
_ﬁE=123E__
[EA= 2.60tf

= 8. 24tf
& Hi= 10. 84tf
— A =124 —
E75= 2.56tf

= 8 45tf
A= 11.01tf
_ﬁE=125E__
[EA= 2.53tf

= 8.66tf
& Hi= 11.18tf
_ﬁngeg__
EJ= 2. 46tf

= 8. 86tf
A= 11.32tf
—AE=121E—
[EA= 2.42tf

= 9.06tf
& Hi= 11.48tf
—ﬁﬁ=128§——
E5n= 2. 38tf

= 9. 26tf
& Hi= 11. 64tf
— A =120 —
FEA= 2.31tf

= 9. 45tf
A= 11. 77tf
_ﬁgzugog__
E5= 2. 28tf

= 0 64tf
& Hi= 11.92tf
— A =131 —
[EA= 2.24tf

= 9. 83tf
/= 12.06tf
_ﬁﬁzugzg__
Ehn= 2.17tf
1=1%= 10. 00t
&= 12,17t
— A =133 —
[EA= 2.13tf
{E14= 10. 18tf
EH= 12.31tf
—AE=134F—
E5= 2.06tf
1=1%= 10. 34tf
A= 12. 41t
— A =135 —
[EA= 1.99tf
{E14= 10. 50tf
/= 12.50tf
_ﬁgzugeg__
[EA= 1.80tf
1=1%= 10. 66tf
&= 12.55tf
— A =131 —
Ehn= 1.79tf
{E14= 10. 80tf
€H= 12. 60tf
—AE=138E—
[EA= 1.69tf
1=1%= 10. 94tf
A= 12. 64t
— A =139 —
E7= 1.60tf
{EtE= 11. 07tf
/= 12.67tf
— A =140 —
[EA= 1.50tf
1=1%= 11.19tf
& Hi= 12. 60tf
_ﬁE=141E__
Ehn= 1.37tf
{E1= 11.31tf
/= 12.67tf
— A =142 —
[EA= 1.24tf
1=1%= 11. 41tf
€H= 12. 65tf
_ﬁE=143E__
Ehn= 1.11tf
{E14= 11.51tf
&= 12.61tf
— A =144 —
EA= 1.01tf
{=1%= 11.59tf
/= 12.60tf

— A EE=145—
E7= 0.88tf
1=1%= 11. 67tf
&= 12. 56t
— A =146 —
ErH= 0.72tf
(= 11, 74t
S /= 12. 45tf
__ﬁ§=147§__
[EA= 0.55tf
1=1%= 11. 80tf
&= 12. 36t
— A =148 —
E7= 0.33tf
{E14= 11. 85t
/= 12. 18tf
__ﬁ§=149§__
EAH= 0.20tf
18%= 11. 89tf
A= 12.00tf
__ﬁE=150g__
E7A= 0.07tf
{EtE= 11. 92t
/= 11.99tf
— A =151 —
[E A= -0. 06t
1=1%= 11. 94tf
&= 11.88tf
—fARE=152F—
E 7= -0. 22tf
{E14E= 11. 95tF
&= 11.73tf
— A =153 —
[E A= -0. 35tF
{=1%= 11. 95tf
/= 11. 60tf
__ﬁE=154g__
E 7= -0. 48tf
{EtE= 11, 94t
&= 11. 46t
— A =155 —
[E A= -0. 61tf
1=1%= 11. 92tf
/= 11.32tf
__ﬁ§=156§__
E 7= -0. 71tf
1=1%= 11. 90tf
&= 11.13tf
— A RE=15TE—
[E A= -0. 93tf
{E14= 11. 87t
€R= 10, 94tf
— A =158 —
E 7= -1.09tf
1=1%= 11. 83tf
&= 10, 73tf
— A =159 —
[E A= -1. 25t
{Et4= 11. 78t
& /= 10. 52tf
——ﬁﬁ:]eog——
[EA= -1. 41t
== 11. 72t
&= 10, 31tf
—ARE=161E—
E 7= -1.58tf
{E14$= 11. 66tT
& /= 10.08tf
——ﬁﬁ:]ezg——
[EA= -1. 74t
{=1%= 11.59tf
&= 9.8btf
— A RE=163E—
E 7= -1.90tf
{E1$= 11.51tf
A= 9.61tf
— A =164 —
[E A= -2. 06t
1=1%= 11. 43tf
&= 9.37tf
— A =160 —
E = -2. 22tf
(= 11. 34t
A= 9.12tf
— A =166 —
[EH= -2.56tf
18%= 11. 25tf
&= 8.60tf
——ﬁﬁ:167§——
E 7= -2.91tf
{Et4E= 11.15tF
&= 8.24tfF
— A =168 —
[E A= -3. 25tf
{=1%= 11. 05tf
&m= 1.80tf

__ﬁgzuigg_
E A= -3. 60tf
1g1E= 10. 95tf
&ri= 7.3b6tf

=357

— =11 E—
FE A= -4. 20t
1&14¥= 10. 73tf
&ri= 6.44tfF
— A E=1728—
E 7= -4.94tf
{BiE= 10. 62t
&M= 5.67tf
——ﬁﬁﬂ 73E_
FE A= -b. 60t
181= 10. 50tf
&= 4.91tf
——ﬁﬁﬂ 74§_
E 7= -6. 25tf
{BE= 10. 39tf
A= 4. 14t
— =175 —
FE A= -6.90tf
181= 10. 27tf
&= 3.37tf
——ﬁﬁﬂ '[GE_
E 7= -7.55tf
{BE= 10. 15tF
&= 2 60tf
— A E=17T1TE—
EAH= -8.21tf
1§1= 10. 03tf
&= 1.82tf
——ﬁﬁﬂ 78§_
E 7= -8. 86tf
BiE= 9. 91tf
&ri= 1.05tf
— A =179 —
FE A= -9.51tf
Bit= 9.79tf
&= 0.28tf
——ﬁEﬂSOE—
EA=10.17tf
BiE= 9.68tf
&= -0.49tf
— A E=181EF—
FE A= 14. 86t
= -9. 68t T
&M= 5.18tf
——ﬁEﬂSZE—
E 7= 15.81tf
1B1E= -9. 44tF
&ri= 6.37tf
— A =183 —
FE A= 16. 76t
{BiE= -9. 33tf
A= 7.43tf
__ﬁE=184§_
A= 17. 10tf
Bi= -9. 21tf
&ri= 8.49tf
— A =185 F—
FE 7= 18. 65tf
{BiE= -9. 10tf
&= 9.55tf
——ﬁEﬂSGE—
FE A= 19. 60t
1B1t= -8. 99tf
&= 10. 61t
— =187 —
E 7= 20.55tf
{E1E= -8. 88t
&= 11.66tf
— A =188 —
FEA= 21.49tf
1B1t= -8. 78tf
A= 12 72tF
——ﬁﬁ=189§—
E 7= 22. 44tf
= -8. 67tF
&= 13. 77t
— A =190 —
FE A= 23. 30t

A

— B E=192—
FEAH= 25.20tf
f51£= -8.38tf
A Hi= 16.91tf

—ﬁE=193E——
HEA= 26. 23tf
8= -8.20tf

—AE=195F—
J_ng .E

A=
HEH= 28. 86tf

Eh= 25 60tf
151E= 7. 39tf
AH= 18.21tf
—AE=201E—

AE’?.— 17 69tf

i
&= 15, 56tf
—%E-ﬂ 2B —

—f
EA= 21 62tf
151&: -7. 15tf

Z =214~
FE A= 21.05tf

EAH= 19.89tf
151E= 7. 09tf

— =21 T
E A= 19. 32tf
2= 7. 08tf
BH= 12, 24tF

{EiE= 7. 13tf
A= 6.47tf
——ﬁﬁ:zzs&——
E 7= 13. 22tf
{51%= 7. 15t
&= 6.07tf
— A =020 —
[E 3= 12. 84tf
{Et= -7 17t
&M= 5.67tf
——ﬁﬁ:zsog——
E71= 12. 46tf
{51%= -7. 20tf
&= b5.27tf
— A =231 —
[E A= 12. 08tf
{Et= -7, 22tf
&M= 4.86tf
——ﬁﬁ:zszg——
[E A= 11. 70tf
{51%= -7. 25t
&= 4. 45tf
— A =233 —
E 7= 11.32tf
{Et= -7. 29tf
A= 4.04tf
__ﬁE=234E__
[E 3= 10. 94tf
{g1%= -7. 32tf
&= 3.62tf
— A =235 —
E 73= 10. 76tf
{Et4= -7. 36tf
A= 3.40tf
— A =036 —
[E /3= 10. 53tf
{51%= -7. 40tf
&Hi= 3. 14tf

{BtE= -7.57tf
EF= 2.21tf

— =1 —
EAH= 9.50tf
Bi= -7. 62tf
Sr= 1.97tf
— A EE=2420 —
EA= 9.40tf
= -7, 67tf

= 1. 73tf

=243 —
EAh= 9.21tf
15%=

)

o

M= -7, 72tf
1. 49tf
— A EE=204 5 —
EA= 9.02tf
Bik= -7 77tf
A/= 1.25tf
__ﬁ E=245§_
FEh= 8.83tf
= -7. 82tf

1. 01tf
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b

o

=246/ —
8.61tf

E
B14= -7. 87tf
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{Ei= -7 93tf
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__ﬁ E=248§_
EAH= 8.23tf
= -7, 98tf

= 0. 25tf

4 =249 —
FEA= 8.04tf
151%=

|

o

4= -8. 04tf
& 0. 00tf
—f EE=250 —
E5= 7.85tf
{Bi= -8. 09t T
Srk= 0. 24tF
— A RE=251—
FEA= 7.66tf
1g1= -8. 15t
A= -0. 49t
__ﬁ E=252§—
Ehn= T7.41tf
1E14= -8. 20tf
&rk= -0.73tf
— A RE=253 —
FEA= 7.28tf
1= -8. 26t
A= -0.98tf
__ﬁ E=254E—
E5n= 7.09tf
1E14= -8. 31tf
&= -1.22tF
— A RE=255 —
FEA= 6.90tf
{B1%= -8. 36t T
A= -1. 46t
__ﬁ §=256E—
FEA= 6.68tf
1B14= -8. 42tf
&rk= -1.73tf
— =257 —
EJ= 6. 49tf
1Bik= -8. 47tf
A= 1. 97tf
__ﬁ §=258E—
FEA= 6.30tf
1E14= -8. 52tf
&= -2 21tf
— A RE=250 —
E5n= 6.11tf
{B1%= -8. 56t T
A= -2. 45t
— A RE=260 —
FEA= b5.92tf

EAH= 5.82tf
{B14= -8. 66tf
A= -2 83tf
— i EE=2628 —
FEAH= b. 74tf

{Eif= -8. 72tf
&= -3.06tf
— A RE=264—
FEA= b5.59tf
1E1= -8. 76t
ESR= -3 17tf

EA= b5.51tf
fEi= -8. 78tf

—f &= ZGGE—
EH= 5.41tf
4= -8.81tf
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{Bit= -7. 62tf
= -3. 93tf
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H= 3.61tf
= -7. 43tf
= -3. 82tf
—f E=28TE—
3. 54tf
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= -3. 68tf
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3. 40tf
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—HE=289E— —AE-313E - —fAE=-337E—
Eij 3.32tf Ehn= 2.13tf EA=-0. 9%1‘
o 3t E‘Ii*..: -6. 74tf 1E'|§=.— 5. 12tf 8= 21. 49tf
&= -3. 42tf &= 1.856tf SH= 20. 56t
—ﬁEE=290E—— —AE-S14E— —AmE-338FE—
& EjJ: 3. 25tf EA= 2.06tf EA= -1.09tf
S 3 a0k !E'IE‘E: -6. 47tf {B%=6.47tf i81%= 21. 85tf
= -3. &= :3. 23tf €H= 8.53tf SH= 20. 76tf
gyl Eﬁ;ﬁ—ZNE—— —fHE=J15E— —AE=-339E—
o 1E73: 3.18tf EA= 1.99tf EA= -1. 25tf
e A‘Is*..: -6. 19tf E'I‘SFF 1. 23tf 8= 22. 18tf
: &= -3.01tf &h= 9.22tf A= 20. 93tf
£obtr —ﬁEE=292E—— —AE-S16— —ARE-340E—
S EjJ: 3. 14tf EA= 1.89tf EA= 1. 41tf
e !Et*._: -b. 88tf {EtE= 7.99tf 1B14= 22. 47t
&= :2. 13tf €= 9.89tf SH= 21. 06tf
gk Eﬁ;ﬁ—Z%E—— —HE=31TE—- —AE=341E—
= 3.10tf EA= 1.79tf EA= -1.58tf
L 3 eetr E‘Ii*..: -5. b4tf 8= 8.76tf 18t= 22. 73tf
5 &= -2. 44tf & H= 10.56tf SH= 21. 16t
- —ﬁ;ﬁ=294§—— —HE=J18E— —AE=342—
= b EjJ: 3. 04tf EA= 1.69tf EA= -1. 14t
S i !E'IE‘E: =5. 19tf 1ETSE= 9. 53tf {814%= 22. 96tf
b &= -2. 15tf &= 11.23tf SH= 21. 22tf
2l —ﬁEE=295E—— —AE-S19E— —AE-343E—
T l:T:jJ: 3.00tf EA= 1.60tf EA= -1.90tf
] E‘Is*..— -4, 81tf 18%= 10. 30t &= 28. 15tf
tf &= -1.82tf EH= 11.89tf A= 21. 25t
T —ﬁ;ﬁ=296§—— —HE=320F— —AE=-34E—
g b EjJ: 2. 96tf EA= 1.50tf EA= -2.06tf
K ngoaL 1515*._: -4. 41tf {Et%= 11. 06tf {814= 23. 30tf
5 &= -1. 45tf S H= 12.56tf SH= 21. 24tf
= —ﬁEE=297E—— —AE=-321F— —ARE-345E—
t l:T:jJ: 2. 89tf EA= 1.37tf EA= -2. 22t
o 3 oatr !E‘Ii*..: -3. 99tf !E'Iﬂi‘ 11. 82tf 1gt= 28. 42tf
&= :1. 10tf &= 13. 19tf SH= 21.21tf
o —ﬁ;ﬁ—Z%E—— —HE=322E—- —fAE=-346F—
e Ll %@: 2. 85tf Eh= 1.24tf E A= -2.56tf
o fRtE= -3. 65tf 1E’EE— 12. 58t T {814= 23. 52tf
5 &hi= 0. 69tf &= 13.81tf A= 20. 95tf
s —ﬁEE=299E—— —AE-323— —AE-34TFE—
o it l:T:jJ: 2. 82tf EA= 1.11tf EA= -2.91tf
o E‘Is*..: -3. 08tf 18%¥= 13. 32t 18= 23.57tf
Lol 276Et— &= :0. 26tf €H= 14. 42tf SH= 20. 66tf
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AE=306E— —AE-330E—- —FAE-304E—
A= 2.46tf EA= 0.07tf EA= -6. 25tf
= 0.85tf 18%= 18. 04tf 8= 23. 19tf
A= 3.30tf & H= 18.12tf SH= 16. 94tf
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A= 2.42tf E A= -0.06tf E A= -6. 90t
= 1. 49tf {Et%= 18. 63tf {814= 23. 04tf
= 3.91tf € H= 18.57tf SH= 16. 14tf
AE=308— —AK=332E— —AE=356—
A= 2.38tf E A= -0. 22t E A= -7.55tf
= 2.16tf 18%=19. 18tf 18= 22. 86tf
&= 4.54tf & H= 18.96tf &H= 15.31tf
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A= 2.31tf E A= -0.35tf EA= -8.21tf
= 2.84tf {Et%= 19. 71tf {814= 22. 67tf
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AE=310— —AKF=-33E— —AE=38E—
A= 2.28tf E A= -0.48tf E A= -8. 86tf
= 3.54tf 18%= 20. 20t 8= 22. 46tf
&= 5.82tf €H= 19. 72t SH= 13. 60tf
AE=S11E— —AE-33bE—- —HAE=-39E—
A= 2.24tf E A= -0.61tf EA=-9.51tf
= 4.26tf {Et%= 20. 66tf {814= 22. 23tf
A= 6.49tf & H= 20. 06t SH= 12. 71tf
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= 4.98tf 18%= 21. 09tf 8= 21. 98tf
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T > mEEEH=300rpm
EJIS&* rILO= 6.321tf-m
&=/ FILY= -0.344tF-m
2B K LY== 7.550tf:m
&/ RILY= 1.632tf-m
4;EB K FILS= 10.686tfm
B|/INRILY= 5.229tf-m
6 EZK FILY= 14.740tf-m
BNV = 8.464tF-m
8EB K FILY= 19.522tfm
&/ FILY= 11.345tF-m
10:EB K LS = 24.006tFm
&/ RV = 14.279tF-m
12EJZK kL= 28. 707t -m
B/ FL%S= 17.138tF-m
14EZK kL= 33.456tf-m
B/ FJL%Z= 20.005tF-m
16:EBK LS = 38. 415tFm
&/ FILY= 22,850t -m
18EB K L= 43.013tFm
&/ FILY= 25.745tF-m
20;EZK FJILY = 47. 745t m
B/ L= 28.619tF-m
22EHRK FJILY= 52,529t m
&/ FILY= 31.459tF-m

I > EERE#=1200rpm
EERXZK LYY= 5 112tf-m
&=/M Vo= -0.078tf-m
2FEBKMILY= 6.683tfm
&=/ RILo= 1.293tf-m
4 FEBK L= 11.254tFm
B/INMILY= 4.691tF:m
6 ERAK ML= 15.631tf-m
B/ ML= 1.732tFm
8EBK kL= 20.518tfm
&/ Lo = 10.383tf-m
10;EJ K ~JLS= 25. 315tFm
&/ FILO=13.022tf-m
128z K FILY= 30. 357t m
B/ FJL%= 15.663tfm
148z K FIL-= 35.300tf-m
B/ FJL%=18.200tf-m
16:ERK FJLS= 40. 447t m
&/ Lo = 20.927tf-m
18ER K ~JLS= 45, 487tFm
&/ M LY = 23. 524t -m
20;EZK kL= 50. 495t -m
B/ FLS= 26.174tFm
225K LU= 55. 465t m
&/ FILO= 28.726tf-m

I EEE#=1825rpm
EXFKFILY= 3.912tf-m
&=/ FILY=-0.013tf-m
2FEB K MILY= 6.844tfm
&/ RILY= 0.544tF-m
4EB K FILY= 12.460tf m
B®/NRILY= 3.810tf-m
6 EEK FILY= 17.097tf-m
B/NRILY= 6.308tf-m
8EB K LY = 22 303tfm
&/ FILY= 8.569tf-m
10:EB K kLo = 21.781tfm
&/ FILY=10.797tf-m
12E& K FLo= 33.341tf-m
B/ MLZ= 13.112tF-m
14EZK FJL o= 38.765tf-m
B/ kL= 15.137tF-m
16:EB K ~JL= 44.319tfm
&/ FILY=11.473tF-m
18EB K L= 49.890tfm
&/ FILY=19.638tF-m
20;E&®Z K FJLY= 55.413tf-m
B/ FL%S= 21.878tF-m
22;E&JZK RV = 60.733tf-m
&/ FILY= 24. 040t -m

I > 2 EEEH=1900rpm
EEXFRKFILY= 3.960tf-m
&=/M Lo =-0.016tf-m
2HEBK ML= 7.081tf:m
&=/DMRILo= 0.422tf-m
4FEBK L= 12.640tfm
B/INMILY= 3.672tF:m
6 ERK FILY=17.314tT-m
B/ FILY= 6.098tf:m
8EBK kLY = 22.566tfm
&=/MRILO= 8.296tf-m
10:E] K ~JLS= 28.151tfm
&/ FILY=10.466tf-m
128/ K ML= 33.782tT-m
B/ MUY= 12. 715t m
14EHRK FILY= 39. 277tF-m
B/ MUY= 14.613tfm
16:EB K ML= 44.891tfm
&/ FILY=16.959tf-m
18EB K LS = 50.547tfm
&/ LY =19.057tf-m
20;E&ZK kL= 56. 140t -m
B/ MLS= 21, 224tFm
2285 K RV = 61.528tF-m
&/ FILO= 23.323tf-m

I 2P mEER#=1975rpm
EXZRKFILY= 4.019tf-m
/D FILY = -0.040tf-m
2B K ML= 7.337tfm
&/ FILO= 0.285tf-m
4EBK ML= 12.828tf m
BNV = 3.528tf-m
6 &K MLy = 17.539tf-m
B/\FILY= 5.879tf-m
8 EBK L= 22 840tf m
&/ FILY= 8.012tf-m
10:EB K kLS = 28.535tfm
&/D FILY=10.120tf-m
12Z&K FILo= 34. 242tf-m
B/ ML= 12.302tF:m
14EZK FLo= 39.810tf m
B/NFLY= 14.190tF-m
16:EB K ~JLS= 45, 486tfm
&/ FILY = 16.424tF-m
18EB K ~JLS= 51.231tfm
/DMLY= 18.452tF-m
20;E&Z K kLS = 56.896tf-m
B/ ML= 20. 544tF-m
228EK FILY= 62. 355t m
&/ FILD = 22.578tF-m

I > U EEE#H=2050rpm
EEXFZKEILY= 4.087tf-m
&=/ L= -0.072tf-m
2HEBAK ML= 1.605tf:m
&/ FILo= 0.133tf-m
4FEBK ML= 13.022tfm
B/ BILY= 3.379tf-m
6 ERK FILY=17.773tfm
B/ ~JLY= 5.651tf-m
8EBK FILY= 23 128tfm
&=/ RILo= 7.718tf-m
10:EB K LS = 28.935tfm
&/ FILo= 9.761tf-m
128/ K ML= 34.720tT-m
B/ MLS= 11.873tfm
14EHRK FILY= 40.363tT-m
B/ MUY= 13.687tf-m
16:EB K L= 46.108tfm
&/ FILY= 15.869tf-m
18EB K L= 51.942tfm
&/ FILY= 17.824tf-m
20;#E&ZK F)LY= 57.681tf-m
B/ FL%S=19.837tF-m
285K RV = 63.214tF-m
&/ FILY= 21.804tf-m

I oo EEE#=2125rpm
EXFRKFILY= 4.322tF-m
&=/ FILo=-0.117tf-m
2B K ML= 7.888tf:m
&=/D FILo=-0.031tf-m
4EBK ML= 13.224tFm
BINFILY= 3.224tFm
6 &K FILY=18.016tf-m
B/\FILY= 5. 415tF:m
8EB K ML= 23. 442tf:m
&/ FILo= T7.412tF-m
10;EB K kLS = 29. 350tfm
&/ FILo= 9.387tf-m
128 %K kL= 35.215tfm
B/NFLS= 11.428tF-m
148ZK FILo= 40.937tf-m
B/ FJLS=13.166tT-m
16:EB K ~JLS= 46. T71tfm
&/ L9 = 15.293tf-m
18EB K ~JLS= 52.679tfm
&/ FILO=17.172tF-m
20;EEZK kLS = 58.496tf-m
B/ FILS=19.104tF-m
225K FILY= 64.105tF-m
/D Lo = 21.000tf-m

I EERE#=2200rpn
EEXFZK Y= 4.616tf-m
&=/ FILY=-0.176tf-m
2FBAKNILY= 8.183tf:m
&=/ LY = -0.207tF-m
4EBK FILY=13.434tf m
B/NBILY= 3.063tf-m
6 EEZEK LY = 18.268tf-m
B/NRILY= 5. 171tfm
8EBK FILY= 23.716tfm
&/ FILo= 7.095tf-m
10:ER K kLo = 29. 779tfm
&/ FILo= 9.001tf-m
12E&Z K FJLY = 35. 729t -m
B/ ML= 10. 966t F-m
14EZK FLY = 41.532tF-m
B/ MUY= 12.626tF-m
16:EB K ~JLS= 41.458tf:m
&/ FILY= 14. 696t -m
18EB K L= 53. 442tf:m
&/ FILY= 16.497tF-m
20;E&Z K RIS = 59. 340t m
B/ FJL%Z= 18. 345tF-m
22;EZK RV = 65.029t-m
&/ FILY= 20.168tf-m

I 29 2 EERE=600rpm
HEEXBKFILY= 6.070tf:m
B/ RV = -0.254tFm
28RKMILY= 7.310tf:m
BNV = 1.593tfm
4EEK ML= 10.693tf-m
&/ FILY= 5.126tf-m
6:EB K LS = 14.805tfm
&=/ FILY= 8.378tf-m
8 EB K LS = 19.566tfm
B/ LZ= 11.182tF-m
10EZK FILY= 24. 144tF-m
B/ MUY= 14.124tF-m
1288 K LS = 28.885tfm
&/ FILY= 16.966tT-m
1488 K LS = 33.643tFm
&/ FILY=19.797tf-m
165EZ KA FJLSY= 38.619tf-m
B/ MUY= 22.669tF-m
18EZK RV = 43.312tF-m
B/ FJL%= 25.508tF-m
20iER K ~JL4= 48.081tf:m
&/ FILY= 28. 364t -m
22EBK FJL4= 52.948tf:m
B/ hL%S= 31.207tF-m

I 2P mEER$=1500rpm
HAEBKNILY= 4.389tfm
B/ RV = -0.043tfm
2ERK ML= 6.357tf-m
B/ kLY = 0.975tF:m
4EHKR VY= 11.763tf-m
&=/ RILO= 4.323tf-m
6 EBK LY = 16.259tFm
&=/ o= 7.122tf-m
8EBK L= 21.283tfm
B/NBILY= 9.614tFm
10EZK FILY= 26.350tf m
B/ FLS=12.071tfm
12E8 K ~JLS= 31.636tFm
&/ FILO= 14.594tf-m
14EB K ~JLS= 36. 785tFm
&/ FIL9=16.906tf-m
16:EZK FILY= 42. 106t m
B/ FLS= 19, 455tF-m
18EZK FILY= 4]. 34Tt m
B/ MUY= 21.869tF-m
20EH K b= 52. 602t m
&/ LD = 24. 349t -m
2R K bILY= 57. 657t m
B/ LS = 26.722tFm

I 2P v EEEE=1850rpm
EEXBKMILY= 3.927tf:m
B&/INRILY= -0.011tf-m
2ERAN ML= 6.921tf:m
B/NRILY= 0.507tF-m
A4EER ML= 12.519tf-m
&/ RILY= 3.765tf-m
6 ERK ML= 17.168tf:m
&=/ FILY= 6.239tf-m
8 EB K LY = 22 389tf:m
B/INRILY= 8.479tFm
10EZK RV = 27.902tf-m
B/ FJL%Z= 10.688tF-m
1288 K LS = 33.486tfm
&/ FILY= 12,982t -m
1488 K ~JLS= 38.934tfm
&/ FILY= 14,985t -m
165EZ K RV = 44.507tF-m
B/ FL%Z= 17.304tF-m
18EZ K kL= 50.106tf-m
B/ ML= 19. 447tF-m
20iEHR K ~JL4= 55. 652t m
&/ FILY= 21.663tF-m
22EB K FILY= 60.994tf:m
B/ MUY= 23.804tF-m

I 2Py mEERE=1925rpm
HAEBKFILY= 3.979tf'm
B/ BILY= -0.021tfm
2ERRKFILY= T7.164tF-m
B/ ~ILY= 0.378tf:m
4EBRR LY =12.702tF-m
&/MRILo= 3.625tf-m
6 EBK L= 17.388tFm
/M RILO= 6.026tf-m
8EBK Y= 22.656tfm
B/ MILY= 8.203tf:m
10:EZK FJILY= 28. 277tF-m
B/ FJL%= 10.352tf-m
128K L= 33.933tf:m
&/ FILO=12.579tf-m
14558 K L= 39. 453tf:m
&/ FILO= 14. 514t -m
16:EZ A FJILY = 45.087tf-m
B/ FJL%S= 16.783tfm
18EZ K FJILY= 50. 772t -m
B/ L= 18.858tf-m
20EH K ~ILS= 56. 389tfm
&/ FILY= 21. 000t m
22K ~ILY= 61. 800t m
B/ LS = 23.078tF-m

I > ¥ 2 EERH=2000rpm
EEXBKMILY= 4.040tf:m
B\ RV = -0.049tF-m
2ERK MILY= 7.425tf-m
B\ kL= 0.235tF-m
A4EHR ML= 12.892tf-m
&/ FILD= 3.479tf-m
6 ERK ML= 17.616tF:m
&/ FILY= 5.804tf-m
8EBK ML= 22 934tf m
B/NFILY= 1.915tFm
10EZK kL= 28. 667tf-m
B/ L= 10.002tF-m
1288 K ~JLS= 34.399tfm
&/ FILY=12.161tf-m
1488 K ~LS= 39.992tfm
&/ FILY=14.024tF-m
165E=Z K kL= 45. 689tf-m
B/NFLY= 16.241tF:m
18EZ K kL= 51.465tF-m
B/~ = 18. 245t m
20;EH K kLS = 51.154tfm
&/ FILY=20.311tf-m
22EB K ~ILS= 62.638tfm
B/NMILY= 22.323tF:m

I 2P mEER$=2075rpm
HEBKILY= 4.132tf:m
&/ L= -0.087tfm
2ERKRK ML= 17.697tf'm
B/ BILY= 0.082tf-m
4ERKRK ML= 13.089tf-m
&/ FILY= 3.328tf-m
6 EBK ~ILY= 17.853tf:m
&/ FILO= 5.574tf-m
8EBK FILY= 23 231tfm
B/NBILY= 1.617tFm
10EZK FJILY= 29. 072t -m
B/ BILY= 9.638tF-m
1288 K kL= 34.883tfm
&/ FILY= 11. 726tf -m
1458 K LS = 40.552tFm
&/ FILY= 13.516tf-m
16:EZ A FILY = 46.327tF-m
B/ FJL%S= 15.679tF-m
18 &K FJLY = 52.185tf-m
B/ FJL%Z= 17.609tf-m
20EH K ~ILY= 57.950tFm
&/ FILY=19.596tf-m
22K FILY= 63.508tFm
B/ bJLS= 21.539tF-m

I ¥ mEEEH=2150rpm
EEXBKRKMLY= 4 419tf:m
B/ kL= -0.135tFm
2 ERKRKMILY= 7.986tf-m
B/ RV = -0.089tf m
4EHK ML= 13.293tf-m
&=/ kL= 3. 171tf-m
6:EB K L= 18.099tfm
&/ FILO= 5.335tF-m
8 EB K LY = 23.550tfm
B/NFILY= 1.307tF:m
10:EZK FILo= 29.491tf-m
B/NFILY= 9.260tF:m
128K kL= 35.385tfm
&=/ FILY= 11. 276t -m
14GEBK ~JLS= 41.133tfm
&=/ FILY=12. 988t m
16:EZ K FJL = 46.998tf-m
B/ FJL%S= 15.096tT-m
18&EZ K kL= 52.930tf-m
B/ FJLS= 16.949tT-m
20EH K kLS = 58. 774tfm
&/ FILY= 18. 854t m
22EHR K ~ILY= 64. 410tfm
B/ FJLS= 20.726tF-m

I 29 mEERE=2225rpm
EEXBKNILY= 4.716tF:m
B/ RV = -0.197tFm
2ERKFILY= 8.284tf:m
B/ BV = -0.270tFm
4EHK LY = 13.505tf-m
&/ FILo= 3.009tf-m
6 EB K ~JLY= 18.353tf:m
&/ FILY= 5.088tf-m
8EB K FJILY= 23.896tf:m
B/NMILY= 6.987tf-m
10EZK FLY = 29.926tf-m
B|/NBILY= 8.869tf-m
128K kL= 35.904tfm
/M FJLY= 10. 809t -m
146E8 K FL= 41.734tfm
&/ FILY=12. 441tF-m
165EZ A FILY = 47. 692t -m
B/ MUY= 14, 492tF-m
18E &K LY = 53. 703tf-m
B/ FJL%Z= 16. 266tF-m
20iEH K FJLY = 59. 628tfm
/M FJLY= 18. 087tf-m
225ER K FILY = 65, 344tfm
B/ bJLZ= 19, 885tF-m

O U [EER#=900rpm
EJIS&* rILO= 5. 675tf ‘m
&=/ FILY=-0.138tf-m
2FB K MILY= 6.966tf:m
&/ FIL= 1.503tf-m
4;EB K FILS= 10.865tfm
B/NRILY= 4.943tF-m
6 EZK FILY= 15.147tf-m
B/NRILY= 8.207tFm
8HEFZK FILY=19.924tf-m
&/ FILY=10.904tf-m
10:EB K ~JLS= 24.632tFm
&/ FILY= 13. 758t -m
12EJZK RV = 29. 441t m
B/ FL%Z= 16.474tF-m
14EZK RV = 34.243tF-m
B/ L= 19.182tF-m
16:EBK L= 39.281tfm
&/ FILY= 21,944t -m
18EB K FJLS= 44.151tFm
&/ FILY= 24,789t -m
20;EZK FJILY= 49.014tF-m
B/ hL%= 27.552tF-m
22;E&JZK RV = 53.869tf-m
B/ kL= 30.269tF-m

< > B #=1800rpm
EEXZKFILY= 3.898tf-m
&=/M Vo= -0.014tf-m
2FEB KL= 6.769tf:m
&/MRILo= 0.581tf-m
4FEBK L= 12.401tfm
B/ ~ILY= 3.855tF:m
6 ERKX FLY=17.027tf-m
B/ FILY= 6.376tF:m
SERK FMLY= 22 21Ttf-m
&/MRILO= 8.658tf-m
10:EB K ~JLS= 27. 661t m
&/ FIL9=10.904tf-m
1287z K FILY= 33.198tf-m
B/ FL%S=13. 240tF-m
148z K FIL - = 38.599tf-m
B/ FL%S= 15. 288tf-m
16:ER K ~JLS= 44.133tFm
&/ Lo = 17. 640tf-m
18ER K FILY= 49. 677t m
&/ FILo=19.827tf-m
20;&E&ZK kL= 55. 177t m
B/ FLS= 22.090tfm
225K LIV = 60.475tT-m
B/ bV = 24. 266tT-m

o > EEx%k=1875rpm
EJIS&* rILO= 3.943tf-m
&=/ FILY=-0.011tf-m
2B K MILY= 6.999tf:m
&/ RILY= 0.466tF-m
4EBK FILY= 12.579tfm
B/NRILY= 3.718tf-m
6 EZK ML= 17.241tf-m
B/NRILY= 6.169tF-m
8HEEZEK FILY= 22. 477t m
&=/ FILY= 8.388tf-m
10:EB K kLS = 28.026tfm
&/ FILY=10.578tf-m
12EJZK RV = 33.633tf-m
B/ FL%Z= 12.849tF-m
14EZK FILY= 39. 104tf-m
B/ FJL%Z= 14.830tF-m
16:EB K ~JLS= 44.698tfm
&/ FILY=17.132tF-m
18EB K kLS = 50.325tfm
&/ FILY=19.253tF-m
20;E&®Z K kL= 55.894tf-m
B/ MUY= 21, 445tF-m
22EJZK FILY= 61.259tF-m
B/ hL%= 23.565tF-m

< o EEEH=1950rpm
EEXFZKFILY= 3.998tf-m
&/ FILo=-0.030tf-m
2FEBK ML= 7.250tfm
&/MRILo= 0.334tf-m
4FEBK L= 12.764tFm
B/ MILY= 3.577tf:m
6 EEK LY = 17.463tf-m
B/ ~JLY= 5.953tf:m
S8HEEZK LY = 22.748tf-m
&/MrILo= 8.108tf-m
10:EB K L= 28. 405tf-m
&/ Lo = 10. 237t -m
128 &K MUY= 34.087tf-m
B/ MUY= 12. 441tF-m
148 ZK MUY= 39. 630tf-m
B/ FJL%S= 14.353tf-m
16:EB K L= 45, 285tf m
&/ F LY = 16. 605tf-m
18E B K L= 51.000tfm
&/ FILY= 18.656tf-m
20;EZK kL= 56. 641tf-m
B/ bJLS= 20.713tFm
285K ML= 62.076tF-m
B/ MUY= 22.830tFm

¥ > B #E#=2025rpn
E*ﬁk rILO= 4.063tf-m
/D FILY=-0.059tf-m
2B K MILY= 7.515tfm
&/ FILo= 0.185tf-m
4EBK ML= 12.957tfm
BINNILY = 3.429tF-m
6 R K FILY= 17. 694tf-m
B\ = 5.728tf-m
8EREXK FILY= 23.029tf m
&/ FILo= 7.817tf-m
10:EZ K kLS = 28.800tf:m
&/ FILO= 9.882tf-m
12&K kL= 34.559tf -m
B/NFLY=12.018tF:m
14EZK FLo= 40 177tfm
B/~ = 13.857tF m
16:EB K kL= 45, 896tfm
&/D FILY = 16.056tf-m
18EB K kLS = 51.702tfm
&/D FILY=18.036tf-m
20E&Z K kLY = 51.416tf-m
B/ FLY= 20.076tF-m
2285 K LY = 62.924tf-m
B/~ = 22.065tF-m

I 2P UmEER#=2100rpm
EEXFRK D= 4.226tF-m
&=/ L= -0.102tf-m
2EBARKMILY= 1.792tf:m
&/ FILO= 0.026tf-m
4FEB K L= 13.156tfm
B/NMILY= 3.276tFm
6 EEK LY = 17.934tf-m
B/ ML= 5.495tf-m
8HEEZK LY = 23.336tf-m
&/ FILY= 7.515tf-m
10:EB K ~LS= 29.210tfm
&/ FILo= 9.513tf-m
128 &K FJLS= 35.048tf-m
B/ FL%S= 11.578tf-m
14EZK FILY = 40. 744t -m
B/ MUY= 13.342tF-m
16:EB K L= 46.548tf-m
&/ LY = 15487t -m
18EB K LS = 52.430tfm
&/ FILY= 17.392tf-m
20;E&ZK FJ)LY= 58.221tf-m
B/ FJL%S= 19.352tF-m
2285 K FLY= 63.805tF-m
B/ bLS= 21.271tF-m

< VB EE#=2175rpm
§$ﬁk rILO= 4.517tf'm
/D FILY=-0.156tf-m
2B K ML= 8.084tf:m
&=/ FILO=-0.148tf-m
4EBK FILS= 13.363tfm
B/INFILY= 3.118tf:m
6 &K FILY=18.183tf'm
B/\FILY= 5.254tFm
8EREKX FILY= 23 659tf-m
&/ FILo= 7.202tf-m
10;EB K kLS = 29.635tfm
&/ FILo= 9.131tf-m
128 7&K kL= 35.556tf m
B/ANFLS=11.122tFm
148ZK FLY= 41.331tfm
B/ FLS=12.808tTm
16:EB K ~ILS= 47.226tFm
&/ FILO= 14897t -m
18EB K kLS = 53.185tfm
&/D F LD = 16. 724t -m
20;EEZ K FLS = 59.055tf-m
B/ FJL%S=18.601tT-m
2285 K LY = 64.T17tf m
B/ FILS= 20, 449tT-m

o > ElEE%=2250rpm
Eikni)t rILDO= 4.817tf'm
&=/ FILY=-0.220tf-m
2FBAKNILY= 8.386tf:m
&=/ FILY=-0.336tF-m
4EBK FILY=13.577tfm
B/NMILY= 2.953tf-m
6 EEZK LY = 18.440tf-m
/N JILY= 5.004tf-m
8HEFZK MLy = 24.018tf-m
&=/ FILY= 6.878tF-m
10:EZ K kLo = 30.074tf-m
&/ FILY= 8.736tF-m
12E&Z K FJLY = 36.081tf-m
B/ FJL%Z= 10. 650tF-m
14EZK FLY = 41.939tF-m
B/ ML= 12. 255tF-m
16:EB K ~IL= 41.929tfm
&/ FILY= 14. 286t -m
18EB K kL= 53.966tfm
&/ LY = 16. 033t -m
20;E&ZK FJILY = 59.919tf-m
B/ MUY= 17.825tF-m
228K RIS = 65.662tF-m
B/ kL= 19.598tF-m
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T > ElEEE=300rpm

EKﬁJﬂE‘I:‘E kLo= 69kef-m
B®/MEHE FLY=  -61kgf-m
2 EEKIEM FILY=  62kgf:m
=®/MEM FLY=  -56kgf-m
4ERKEM ~LY=  bTkgfm
B/MEM FLY=  -44kgfm
6 EZKIEM FILY=  5bkgf-m
B/MEM ML= -45kgfm
8ERAEM ~ILY=  64kgf-m
=®/MEH FLY=  -56kgf-m
10ESKE M ML= T4kgf-m
B®/MEHE FLY=  -66kgf-m
128 KEE L= 84kgf:m
B/MEM FLY=  -Tlkgfm
14ESKEE L= 94kgf:m
B/MEM ML= -92kgf:m
16GERKEM ML= 113kgf-m
B®/MEMHE FLY=  -9Tkgf-m
1GEFRKEM ML= 119%gf-m
B®/MEHE FLY= -113kef-m
20;ERKIEME FILY=  131kegf:m
B/MEM ML= -125kgfm
22 RIEME FILY=  144kegf-m

B®/MEM FLO= -13Tkgf-m

< > [ #=1200rpm
Eikﬁkﬁ‘l:‘t kLo= 1118kef-m
B®/MEHE FLY= -982kgf-m
2 ERKEM ML= 1002kgf:m
B®/MEME FLY= -899kgf-m

AERKEYE ML= 919%kgf:m
B/MEME L= -709kgf:m
6 EEKIEM ML= 895kgf-m

B/MEME L= -729kgf:m
SERKIEM ML= 1028kgf:m
B®/MEME FILY= -902kgf-m
10| KE ™ FJLY= 1186kgf m
B®/MEME LS = -1062kgf-m
12EZKIEM L= 1359%ef-m
B/MEME LS = -1244kgf m
14EZKEE FLo= 1519kef-m
B/MEME LS = -1483kgf:m
1638 | K8 ™ FJLY= 1813kgf:m
=/MEME FILY = —1552kgf-m
18| KB ML= 1910kgf m
B/MEME FILY= -1811kgf-m
20;E R RIEME ML= 2099kgf-m
B/MEME LS = -2001kgT-m
22;E R RIEME ML= 2313kef:m
BR/MEM FILD= -2193kgf-m

o > ElEx%=1825rpm
EKﬁJﬂEH’. kL% = 2586kef-m
wB&/MEHE ML= -2273kef-m
2;FEBRKIEM L Y= 2318kgf:m
=/MEME FILY= -207%%eT m
4B KEME FILY= 2127kgf m
B/MEM FILY= -1641kgf m
6 EEZKEE FILY= 2072kef-m
B/MEM LY = -168Tkgf m
8EBKIEM LY = 2378kgf:m
/MEME FILY= -2087ke T m
10EJ K™ FJLY= 2745kgf:m
/MEME LY = -2458keT-m
12EZKEYE FLy= 3144kef-m
B/MEM LY = -2878kgf m
14EZKEYE FLy= 3514kef-m
B/MEM ~JLY= -3430kgf m
16:E B K8 ™ FJLY= 4195kgf:m
/MEME FJLY = -358%keT m
18 EJ K™ ML= 4419kgf:m
/MEME FILY= -418%keT m
20 NIENE FJLY = 4856kgf-m
B/MEM ~JLY= -4630kgf m
2B NIEME FJLY= 5351kegf-m
/MEM LY = -5073kef m

< o[ %=1900rpm
EKﬁkE‘I:‘E kL= 2803kef-m
B®/MEHE F LY = -2464kgf-m
2 EBKEME FLY= 2512kgf:m
=/MEME FILY = -2254kef -m
4 BB KEMY FILY= 2305kgf m
B/MEM LS = -1779%efm
6 R AEM FILY= 2245kgf-m
B/IMEM ~JLS= -1828kgf m
SEFKIEM FILY= 25TTkgf:m
=/MEME FILY = -2262kef-m
10:ERKE™ MUY= 2975kgf:m
=/MEME FJLY = -2664kef-m
128 & KIEM L= 3408kgf-m
B/MEM™ LS = -3119kgf m
14EZKIEY FLo= 3809kef-m
B/IMEM ~JLS= -3718kgf m
16ERKIE™ ML= 454Tkgf:m
=/MEME F LY = -3890kef -m
1&GERKIE™ ML= 478%kef:m
=/MEME FJILY = -4541kef-m
20;E R KIEME FJLY= 5263kef:m
B/MEM™ ~JLS= -5018kgf m
22 E B RIEME FJLY= 5800kgf:-m
=/MEM F LY = -5498kef-m

¥ U EEE#H=1975rpm
EJISE*E'I‘SE kL= 3028kef-m
B®/MEME FJLY = -2662kgf-m
2;FEBRKIEM FLY= 2714kgf:m
=/MEME bV = -2435kgf-m
4R KEM FILY= 2491kgf:m
BB ~ILY= -1922kgf-m
6 ERKEYE MUY= 2426kef-m
BB ~JLY= -1975kgf-m
8EJKIEM ML= 278bkgf:m
=/MEME FILY = -2444kgf-m
10:EJ KB M FJLY = 3215kgf:m
B/MEME RV = -2879%gf-m
12EZKEE FLY = 3682kgf-m
BB ML Y= -3370kgf-m
14EZKEYE FLY = 4116kef-m
BB ~ILY= -4017kgf-m
16:EJ KB M FILY= 4913kgf:m
B/MEME F L= -4204kgf-m
18 B/ KB M FJLY = 5175kgf:m
B/MEME RV = -4906kgT-m
20;ERKRIEME LY = 5687kef-m
BB ML= -5422kgf m
22ERKIEME LY = 6267kef-m
B/MEM FILO= -5941kgf-m

< >/ [EE%=2050rpm
EKﬁiE‘I:‘E kL= 3263kef-m
&/MEHE MUY= -2868kef-m
2EBKEME FILY= 2924kgf:m
=/MEME FILY = -2624kef -m
ABERREMY FILY= 2684kgf m
B/MEM MY = -2071kgfm
6 EEKEM LYY= 2614kgf-m
B/MEM FILY= -2128kgf m
8EZKIEM F)LY= 3000kgf:m
=/MEME FILY = -2634kef-m
10:ERKE ™ ML= 3464kgf:m
=/MEME FILY = -3102kef-m
128 KEH LY = 3967kef-m
B/ME™ L= -3631kgf m
14EZKIEYE FLY= 4435kef-m
B/IMEME LY = -4328kgf m
16ERKE ™ ML= 5293kgf:m
=/MEME FILY = -4529kef -m
18ER K™ L= 5575kgf:m
=/MEME LY = -5286kef-m
20;E R KIEME ML= 6127kef-m
B/IME™ L= -5842kgf m
22 E B KIEME ML= 6752kef-m
=/MEME FILY = -6401kef-m

¥ VR EE#H=2125rpm
EJISE*E'I‘SE kL4 = 3506kef-m
B&/MEME FJL Y= -3082kgt-m
2ERKIEM ML= 3142kgf:m
=/MEME RV = -2819kgf-m
4R KEM ML= 2884kgf:m
B/MEM ~ILY = -2226kgf-m
6 ERKEYE LY = 2809kef-m
B/MEM ~ILY = -228Tkgfm
SERKIEM FILY= 3224kgf:m
=/MEME L= -2830kgT-m
10| KBS FILY= 3722kgf:m
B/MEME FILS = -3333kef-m
12&EZKEE FLY= 4263ksf-m
B/MEM ~JL Y= -3902kgf-m
14EZKEE F)LY = 4765kef-m
BB ~JLY= -4651kgf-m
16383 K8 M FJLS= 5687kgf:m
B/MEME RV = -4867kgf-m
18 B KB M FJLY= 5991kgf m
&/MEME L= -5680kgf-m
20;ER KIEME FILY= 6583kgf-m
BB ~ILY= -6217kgfm
22;ER KIEME L= 7255kgf m
B®/MEM L= -6878kgf-m

< > EEE%=2200rpm
EKﬁiE‘I:‘E kL% = 3758kef-m
&/MEHE MUY= -3303kef-m
2 EBKIEM L= 3368kgf:m
=/AMEME FIL Y= -3022kef -m
4EBKEM ML= 3091kgf:m
B/MEM™ ~JLS = -2386kgf m
6 EEAEME L= 3011kgf-m
B/MEM LY = -2451kgf m
SEZKIEM FJLY= 3456kgf:m
=/ME FJLY = -3033kef - m
10ER KB M ML= 3989kgf:m
=/MEM FJIL Y= -3572kef-m
12EZKIEY LY = 4569kgf-m
B/MEM LY = -4182kgf m
14EZKEY F)LY= 5107kef-m
B/MEM ~JLS = -4985kgf m
16:ER K™ ML= 6096kgT:m
=/MEM FJLY = -5216kef-m
18 ER KB M ML= 6421kgf:m
=/IMEME ML= -6088kef-m
20;ER KIS ML= T7056kgf-m
B/IMEM ML= -6128kgf m
22 ERKIEME FILY= T776kgf-m
B/IMEM™ FILD = -T372kegf m

I 2 EEE#E=600rpm

EXBKEHE FILY=  279%ef:m
B/MEM FLY = -245kgfm
2B REM FLY=  250kgf-m
B/AMEY ML= -224kgfm
AESKIEM LYY= 229ef-m
B®/MEME L= -1T7Tkef-m
6ERAEM ~LY=  223kgf:m
B®/MEM FLY= -182kgf-m
8ERAEM ~ILY=  25Tkgf:m
B/MEM FLY = -225kgfm
10EZKEY FLY= 296kgf-m
B/MEM™ ML= -265kgfm
12EBKE M LY== 339%gf-m
B®/MEHE FLY= -311kef-m
1GERKEM ML= 379%gf-m
B&/MEME FLY= -370kgf-m
16EZAEY F)LY=  453kef-m
B/MEM ML= -388kgfm
18EZKEY FLY=  477kef-m
B/MEY ML= -452kgfm
20EZAEME ML= 524kgf-m
w&/MEHE FLY= -500kgf-m
22EZAEHE ML= 578kgfm

B/MEM FLY = -548kgfm

I > 2 EERE=1500rpm
HAEXBKRIEMS L= 174Tkgfm
B/MEM ~JLS= -1535kgf:m
2 EEKIEM L= 1565kgf-m
B/MEME ~ L= -1405kgf m
4 ERKEM FLY= 143Tkef-m
=/MEME FILY= -1109kgf-m
6 ERKIEM ML= 1399kgf:m
=/MEME FILY= -113%kef-m
SERKIEM ML= 1606kgf:m
B/MEME LS = -1410kgf:m
10z AEYE L)LY = 1854kef-m
B/MEME LS = -1660kgT m
128 BKE ™ FILY= 2124kgf m
B/MEME FILY = —1944kgf-m
14EJKE ™ FILY= 2374kgf m
B/MEME FILY = -2317kgf-m
16 AEYE FLo= 2834kef-m
B/IMEME ~ LS = -2425kgT m
18EZAEYE MUY= 2985kef-m
B/IMEME ~ LS = -2830kgf:m
20;E 5 K{EM FL= 3280kgf:m
=/MEME FILY = -3127kgf-m
22;E 8 KIEM FLS= 3615kgf:m
B/MEM LS = -342Tkgf m

I 2P 2 mEiEE=1850rpm
EAXBKIEM FIL Y= 2657kgf:m
B/MEM ~JLY= -2336kgf m
2R AIEM ML= 2382kgf-m
B/MEM LY = -213Tkgf m
4EEKEE LY== 2186kef-m
/MEM FJILY= -168TkeT m
6B KEM ML= 2129kgf m
/MEME FILY= -1733ke-m
S8EBKIEM FILY= 2443kgf:m
B/MEM LY = -2145kgf m
10EZKEYE FLy= 2821kgf-m
B/MEM ~ LY = -2526kgf m
128 KE ™S FILY= 3231kgf:m
=/MEME FILY = -295Tke T m
14ERKE ™ FLY= 3611kgf:m
/MEME LY = -3525ke T m
16EZAEYE FLy= 4311kef-m
B/MEM ~JLY= -3688kg T m
18EZAEY FLY= 4540kgf-m
B/MEM ~JLS= -4305kgf m
20;ER KIEME FL = 4990kgf m
=/MEME FILY = -415TkeT m
22EBKIEM FL= 5499kgf m
B/ME™ LY = -5213kgf m

I 22 EER#=1925rpm
HAEXBRIEMS FL= 2877kgf m
B/IMEM ~ LS = -2529kgf m
2EEKIEMY L= 2579kegf-m
B/IMEM ~ L= -2314kgf m
4 EBRKIEY FLY= 2366kst-m
=/MEME FJLY = -1826kgf-m
6 EZBKIEM FLY= 2305kgf:m
=/MEME LY = -18TTkefm
SEBKIEM ML= 2646kgf:m
B/MEM ~ LY = -2322kgf m
10:EZKIEM L= 3054kegf-m
B/IMEM ~ LS = -2735kgf m
128 K8 ™ ML= 3498kegf:m
=/MEME LY = -3202kgf m
145ERKEM MUY= 3910kgf:m
=/MEME LY = -3817kef-m
16EZAIEM L= 4667kef-m
B/MEM ~ LS = -3993kgf m
18EZ KB L= 4916kef-m
B/IMEM ~ LY = -4661kgf m
20;E 5 K{EM FLS = 5402kgf:m
=/MEME LY = -5151kef-m
22E B KIE™ FLS= 5954kgf m
B/ME™ ~ L= -5644kgf m

I 2 EiEE#=2000rpm
EAXBKIEM L= 3105kgf:m
B/MEME L= -2730kgf m
2 AIEM L= 2783kegf-m
B/MEME L= -2497kgf m
4EHKEYE FLY= 2554kef-m
B/MEME FILY= -1971kgf-m
6 EJAKEM ML= 2488kgf:m
=/MEME BV = -2026kgf-m
8ERKIEM ML= 2856kgf:m
B/MEME L= -2507kgf m
10EZKEYE FLY = 3297kgf-m
B/MEME L= -2952kgf m
12 B KE M FJLY= 3776kgf:m
=/MEME FIL = -3456kgf-m
T14ERKEMS ML= 4221kgf:m
B/MEME RV = -4120kgf-m
16EZAEYE LY = 5038kgf-m
B/MEME L= -4311kgf m
18EZAEMYE FLY = 5307kef-m
B/IMEME L= -5031kgf:m
20;E S K{EM FLY= 5832kgf m
&/IMEME L= -5560kgT-m
22FRKEM ML= 6427kgf m
B/MEM L= -6092kgf m

I 2P 2 EER#=2075rpm
HAEXBKIEMS FLY= 3343kgf:m
B/MEM LS = -2938kgf m
2EFZKIEM FILY= 2996kgf-m
B/IMEM L= -2688kgf m
4 EBRKEM FLY= 2750kef-m
BR/MEME FILY = -2122kgf-m
6 EZKIEM FILY= 2678kgf:m
=/MEME FILY= -2181kef m
SEBKIEM FILY= 3074kgf:m
B/MEM ML= -2698kgf m
10:EZKIEY LY = 3549kef-m
B/IMEM MY = -3178kgf m
128 K8 ™ ML= 4065kgf:m
/MEME FILY = -3720kef -m
145ERKE M ML= 4543kgf:m
/MEME ML= -4435kgf m
16EZAE MY L= 5423kegf-m
B/IMEM LY = -4640kgf m
18EZKIEY LY = 5712kef-m
B/IMEM L= -b416kgf m
20;E S KIEM FL= 6277kgf m
/MEME FJLSY = -5985kef-m
22E B KIEM FL= 6918kgf m
B/ME™ ~JLS= -6558kgf m

Iy mEiEE#=2150rpm
EAXBKIEM L= 3589kef:m
B/IMEME ~)LS = -3165kgf m
2 KIEM FLY= 3217kef-m
B/IMEME ~LS = -2886kgf m
4EHKEYE FLY = 2952kef-m
B/MEME RV = -2278kgf-m
6 EJKIEM ML= 2875kgf:m
B/MEME RV = -2341kgf-m
8ERKIEM FJLY= 3300kgf:m
B/MEME L= -2897kgf m
10:EZAEYE F)Lo= 3810kef-m
B/MEME RV = -3412kgf m
128 B KE M ML= 4364kgf m
B/MEME RV = -3994kgf-m
145 B KE M FJLS= 4878kgf:m
B/MEME RV = -4761kgf-m
16:EZAEYE FLY= 5822kgf-m
B/METME L= -4982kgT m
18EZAEMYE F)LY= 6133kef-m
B/IMEME ~)LS = -5814kgf:m
20;E 5 K{EM FLY= 673%gf:m
=/MEME RV = -6426kgT-m
22;E B KIEM ML= T1427kgfm
B/MEM L= -7040kgf:m

I EEE#E=2225rpm
EAXBKIEMS FLY= 3844kgf:m
B/MEM™ L= -3379%ef m
2 ERANIEM L= 3445kegf-m
B/MEM ML= -3091kgf m
AEHKEME FLY= 3162kgf-m
/IMEME FILY = -2440kef m
6 EZKIE M FJLY= 3080kgf:m
=/MEME FILY = -2507kef -m
8EZKIEM L= 353bkgf:m
B/MEM™ L= -3103kgf m
10EZAIEMY L= 4080kgT-m
B/MEM LS = -3654kgf m
128 KBS FLY= 4674kgf:m
/IMEME FILY = -4278kef -m
14ER KB ™S ML= 5224kgf:m
/IMEME FILY = -5099kef -m
16EZAEY L= 6235kef-m
B/ME™ ~JLS= -533bkgf m
18EZAIEMY L= 6568kgT-m
B/AMEME ML= -622Tkgf'm
20;ES KIEM L= 7218kgf:m
=/IMEME ML= -6882kef-m
22EEKIEM FL = T7954kgf m
B/ME™ LS = -7540kgfm

I 22 2 EER#=900rpm

EERFKIEME FILY=  628kef-m
wB®/MEH FLY= -552kgf-m

2 EEKIEM FILY=  563kgf:m
&/MEH ML= -505kgf-m
4B KEME LY== 5lTkgf:m
B/MEM ML= -399kgfm

6 EZKIEM FILY= 503kegf-m
B/MEM ML= -410kgfm
8EZKIEM FILY= 578kef-m
wB&/MEHE FLY= -507kgf-m
10EB AR ML= 667kef-m
B&/MEHE FLY= -597kef-m
12EZKEE L= 764kgf-m
B/MEM ML= -699kgfm
14EZKEY F)Ly=  854kgf-m

B/MEM ML= -834kgf:m
16:EJ KB ™ FLY= 1020kgf:m
B®/MEHE ML= -873kef-m
18 EJ KB M ML= 1074kgf:m
/MEME FJLY= -1018kef-m
20;ERKIEME FILY= 1180kgf-m
B/MEM LY = -1126kgf m
22 KIEME FILY= 1301kegf-m
B/ME™ LY = -1233kgf m

I 2P mEER#=1800rpm
ERXZKIEHE FILY= 2515kt m
=/MEME LY = -2211kgf-m
2 ERKEM FILY= 2255kgf:m
w=/MEE R LY = -2023kgf-m
4 ERKEM ML= 2069kgf-m
B/MEM ~LY= -1597kgf m
6 ERAEM L= 2015kgf-m
B/MEM LY = -1641kgf m
SERKNEM FILY= 2313ksf-m
=/MEME R LY = -2030kgf-m
10:ERAEM LY = 2670kgf:m
=/MEME L= -2391kgf-m
128z KEH FLo= 3059kef-m
B/MEM R LS = -2799kgf m
14EZKEHE LY = 3419kef-m
B/MEM ~LY= -3337kgf m
16:ERAE M LY = 4081kgf-m
w=/MEME R LD = -3492kgf-m
18ERAEME LY = 4298kgf:m
&/MEME R LY = -4075kgf-m
20;EEKIEN L= 4723kefm
B/MEM ~ LY = -4504kgf m
22;EERIEM FLY= 5205kef-m
B/MEM KL S = -4935kgf m

I 2P mEER#=1875rpm
EXZAIEM™ FILO= 2729kef-m
=/AMEHE ML Y= -2399gf-m
2;FEBRKIEM L= 2446kgf:m
=/AMEE FJLY= -2195kef-m
4B KEM ML= 2245kgf m
B/MEM™ LY = -1733kgf m
6 EEZKEE LY = 2187kef-m
B/MEM LY = -1780kgf m
8HEFZKEME F)LY= 2510kef-m
=/AMEHE FILY= -2203kef-m
10EB KB ™ ML= 2897kgf:m
=/MEHE LS = -2595kef-m
12EZKEYE FLy= 3319kegf-m
B/MEM ~JLS= -3038kg T m
14EZKEYE FLy= 3710kgf-m
B/MEME LY = -3621kgf m
16:EJ K™ FILY= 4428kgf:m
=/AMEE FJLY = -378%gf-m
18 EJ K™ ML= 4664kgT:m
=/AMEME PV = -4422kef-m
20 NIEME FJLY= 5125kgf-m
B/MEM LY = -488Tkgf m
2B NIEME FJLY= 5648kgf-m
B/ME™ ~JLS= -5354kgf m

I > P mEERE=1950rpm
EEFZAREME LU= 2952kgf-m
=/MEME R LY = -2595kegf -m
2 EBKIEM ML= 2646kgf:m
=/MEME LY = -2374kgfm
AERKEMY FILY= 2428kgf m
B/MEM ~ L= -1874kgf m
6 EEAEME L= 2365kgf-m
B/MEME ~ LS = -1926kgf m
S8 HEEZANIEM LYY= 2715kgf-m
=/MEME RV = -2383kef m
10:ER K™ ML= 3134kegf:m
=/MEME FJILY = -2806kef-m
128 & KIEY L= 3590kgf-m
B/IME™ ~ L= -3285kgf m
14EEZKIEY FLY= 4012kgf-m
B/IMEM ~ L= -3916kgf m
16ERKIE™ ML= 478%kef:m
=/MEME FJILY = -4098kef m
1&ERKE ™ L= 5045kgf:m
B=/MEME LY = -4783kef m
20;E R KIEME FJLY= 5544kef-m
B/IME™ ~ L= -5286kgf m
22 E R AIEME ML= 6109kef m
B/MEM™ L)LY = -5791kgf m

I ¥ mEER#=2025rpm
EXFZAEM FLo= 3184kef-m
=/IMEYE FILY = -2798ket-m
2;ERKIEM ML= 2854kgf:m
=/IMEYE R LY = -2560ket-m
4R KEM ML= 2619kgf m
B/MEME L= -2021kgf:m
6 ERZKEYE MUY= 2551kef-m
B/MEME L= -207Tkgf:m
S8HEZKEYE MLy = 2928kef-m
=/IMEYE LY = -2570kgt-m
10:EJ/ KB M FJLY = 3380kgf:m
=/MEYE FILY = -3026ket-m
12EZKEE F)Ly= 3871kgf-m
B/IMEME ~)LS = -3543kgf m
14EZKEYE FLY = 4327kef-m
B/MEME L= -4223kgf m
16:E B K8 ™ FJLY = 5165kgf:m
=/MEYE LY = -4419kef-m
18 B KB M ML= 5440kgf:m
=/IMEYE FILY= -5158kef-m
20;ERKIEME LY = 5978kef-m
B/IMEME ~)LS= -5700kgf:m
22;ERAKIEME LY = 6588kef-m
B/MEM ~ILS = -6246kgf m

I > EER#=2100rpm
EEXFAEM L= 3424kgf-m
/MEM FILY = -3010kef-m
2 EBKEM ML= 3069kgf:m
/MEME FILY = -2753kef-m
AERREMY FLY= 2816kgf m
B/MEM MY = -2174kgfm
6 EERKEM LYY= 2743kgf-m
B/MEM LY = -2233kgf m
S8 HEEZAEM L= 3149kegf-m
/MEME FILY = -2764kef m
10:ER KB ™ L= 363bkgf:m
/MEME ML= -3255kef m
128 KEH LY== 4163kef-m
B/ME™ L= -3810kgf m
14EZKIEY LY = 4654kef-m
B/IMEME LS = -4542kgf m
16:ER K8 ™ L= 5554kgf:m
/MEME FILY = -4753kef -m
18ER K™ L= 5851kgf:m
&/MEME FILY = -554Tkef m
20;E R KIEME ML= 6429kef-m
B/IME™ ML= -6130kgf m
22 E B KIEME ML= 7085kgf-m
B/MEM™ MY = -6717kgf m

I 2P mEE#=2175rpm
EXFZAIEM L= 3673kef-m
=/IMEYE FILY = -3228kgf-m
2;ERKIEM ML= 3292kgf:m
=/IMEYE FILY = -2954kgt-m
4R KEM FILY= 3021kgf:m
B/IMEME L= -2332kgf m
6 ERKEYE MLy = 2943kef-m
B/IMETME ~LS= -2396kgT m
8HERZKEY LY = 3378kef-m
=/IMEYE FILY = -2965ket-m
10| KB M FJLS= 3899kgf:m
=/MEYE LY = -3491kef-m
12&EZKEE FLY= 4466ksf-m
B/MEME L= -4087kgf m
14EZKEYE FLY= 4992kgf-m
B/MEME L= -4872kgf m
16383 K8 ™ FJLS= 5958kgf m
=/IMEYE FILY = -5098ket-m
18 B KB M FJLY= 6276kgf:m
=/MEYE LY = -5951kef-m
20;ERKIEME FILY= 6897kgf-m
B/IMEME ~)LS = -6576kgT m
22;ERKIEME FILY= 7601kgf-m
B/MEM ~LS= -7205kgf:m

I > aEERE=2250rpn
EXFAEM FIL= 3930kgf-m
/IMEM bV = -3455kef m
2 EBKIEMS L= 3523kgf:m
=/IMEME FILY = -3161kef-m
4EBKEM ML= 3233kgf:m
B/MEM L= -2495kgf m
6 EEAEME L= 3149kegf-m
B/MEM ~JLS = -2564kgf m
S8 HEZKEM LY = 3614kgf-m
/IMEM FILY = -3173kef m
10 ER KB FILY= 4172kgf:m
/IMEME ML= -3136kef-m
12EZKIEY MUY= 4779ef-m
B/IMEM LY = -4374kgfm
14EZKIEY FLY= 5342kgf-m
B/MEM LY = -5214kgf m
16ER KM ML= 6376kgf:m
/IMEME ML= -5456kef-m
18 ER KB ™ ML= 6716kgf:m
/IMEME ML= -6368kef-m
20;ER KIS ML= 7381kgf-m
B/MEM™ L= -703Tkgfm
22 ERKIEME ML= 8134kgf m
B/MEM™ MY = -TT11kgf m

%% : EXRITH L TORAA - 25%=90°

, 438=45" , 63E=30°

, 85E=22.5°

, 105E=18° , 12:E=15° , 14;E=12. 86°

, 165E=11.25° , 18;&=10.0° , 20;&=9. 0°

, 225E=8.18° TfEiT
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5% &1 18 R
HS VO EELER = 98.000000000000
[Pyl Lt RS =
tglgﬁm.,,ozvzbima)ﬂﬁﬁﬁ = . mm p // 7 //////////// ,
AL 590 - i cosmusosour o 2
EX by -O0—5%—@eE@EE= 14 945790000000ke ,///7 4 /
IO FEE = 69.100000000000cm //// \ X ////
290 FER(EB) 4@ /’ ‘//////
\ / //////,

IS yEEH =300rpm IV ymEHR =1975rpm
BXAMIER R o= 69.883770631864kgf-m BAX KIEM L o= 3028, 782031343512kgf-m \
BXTY Y F#E = 25 283563904437kef BXYY Y FEE = 1095 796682830504kgf
I UUEERS =600 I U EES  =2000 w ‘ // 7
BAAmEMS R o= 270 535082527458kef-m B A A RIEM kL o= 3105 945361416197kef-m Z//////////////////////////////////////////////// %
BRI R&E = 101.134255617749kgf BXTY Y REE = 1123 713951308320kgf % %
IO vEEH =900rpm IO VEEH =2025rpm % %
BXAAMIER FL o= 628.953935686780kef -m B A X AIEM kL o= 3184.079299414322kgf m % %
BXTY Y F#E = 227.552075139935kef BXYY Y FEE = 1151.982380395920kef % %
IVYUAER =1200rpm IV VEER =2050rpm % %
BXAMIEE R o= 1118.140330109831kef-m S A& MIEE FJLo= 3263. 18384533780 1kef m % %
BXTY Y NEE = 404.537022470995kgf BXTY Y R&E = 1180.601970093304kgf /
IS UEEH  =1500rpm IV UEIEH  =2075rpm % %
BAAMEN KL o= 1747.004265796611kef-m B A AEM FJL o= 3343.2658999186904kgf m % é
BXTY Y RBE = 632 089097610930kgf BXTY Y FEE = 1209.572720400472kgf % /
IS yEEHR =1800rpm IV ymEHR =2100rpm é %
B LR BI0 Soadontearsoner " B A C B LR 100 S0aesn ket " Z Z

-~ :‘ ~ - — : ~ :‘ ~ — p— : / /
BR e LT P s 17301706kef-n BA A DM b 5o ar06 21130661253ket-m %%//////////////////////////////////////////////////////// Y .
EXTY T REE = 935 667444760060kgf EXTY T FEE = 1268.567702844158kgf &&\§ //////,,, %\\\\%&
IV yAEH =1850rpm IV VRGN =2150rpm § §
BEAARIEM FJL o= 2657.524499861734kef-m JA D RAEH kL= 3589. 308108286592kef-m § §
BXTY Y REE = 961.477749588182kef BXYY Y FEE = 1298 591934980678kef § §\
IV vEEH =1875rpm IO VEEHK =2175rpm § §
BAXSMEN KL o= 2729.834790307204kef-m B A AMEM kL o= 3673.265693837374kgf m § §
BXToO o R&E = 987.639215017078kgf BXTY o FEE = 1328.967327726981kgf § §
IV yAEH =1900rpm IV VRGN =2200rpm § §
BXAMIEE FL o= 2803, 115688678116kef-m BAAMIES FJL o= 3758. 193887313598kgf-m § §
BXTY Y F#E = 1014.151841055759kgef BXYY Y FEE = 1359 693881083067kef § §\
IO vEEH =1925rpm IO VEEHK =2225rpm § §
BAXAMIEN KL o= 2877.367194974474kef-m B A A AEM kL &= 3844.092688715266kgf-m § §
BXTOo REE = 1041.015627704224kgf BXTOo FEE = 1390, 771595048939k gf § §
IYe YA =1950 IYe YA =2250 \ N
XA s 9007 Ra0309196272ket-n B AA BBE L 5= 3930 562098042373kgf m A\ A\
BXTY Y REE = 1068, 230574962472kef BXYY Y FEE = 1422.200469624592kgf 25y R E 25y R E
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BEEHEER
9 59 BEREE R1) = 98.000000000000mm
BE7 —LIBEIYE R2) = 190. 000000000000mm
B2hE~ 2~ 5 >~ s EEREE (L1) = 300. 000000000000mm
SYUHERT = 160. 000000000000mm

L
N
j
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%s NI I IIIHITIHH T

EX kU EmEBETOEE (A1)= 4. 200000000000E
A—&—HELERI) = 322. 000000000000mm
0—4& —#rEE (L2) = 128. 000000000000mm
fRAT SR
MRRATRRO—2 —BRE RKX)= 7.686331010137".F
MRRATRRO—2 —BRE (F19)=  6.105927626053".
ERTEO—7 —HEAE(BEX)= 0.833089128921". f
E#E{TREN—42 —BHE (1) 0. 296134782882". f
A—8 —BREQEE (&X) 1. 686331010137". F O—4—HEE
O—4 —EfrED & (F1) 6. 402062408935". f
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BX BT A&

* BR LY DORE *

5 RAFGEDOFHE w

* BUESZP VEDOHHE *

& ENVBMZERFGORE *

+HHH A O — A — e

RS ~LY = 153. 796593876290t f -m
A—&2— kLY (&XK) = 7.834342951610tf-m
RE2HH = 19.631077529570

+HHHH D 529 O T b

RS ~ILY = 22.949711325592tf-m
9329 bLVY = 0. 549500000000t f -m
RE2HRH = 41.764715788156

S P e

RS kLY = 15. 072000000000t -m
HAX7 bV = 1.099000000000tf -m
REHRHY = 13.714285714286
D9I209FF7 bV = 0. 549500000000t f -m
REHBH = 21].428571428511

+HHHHH A S D A

EX  EE = 5 (©90) : PI#E (P 30)
RS ~ILY = 17. 812830345854tf-m
M kLo = 2198000000000t -m
REFRY = 8.104108437604

H2 EhE = 52 (©120) : AE (P 60)
RS ~ILY = 35.625660691708tf-m
M kLo = 4.396000000000tf-m
REFRY = 8.104108437604

H4 EhE = 2 (D 140) 1 AE (9 30)
RS ~ILY = 71.966033712108tf-m
Hdh kLo = 8.792000000000tf -m
REFRY = 8.185399648784

H6 EhE = 52 (D 160) : AE (P 40)
RS ~ILY = 105. 557513160617tf-m
H A% kvs = 13.188000000000tF-m
REFRY = 8.004057716152

E8 EhE = 41 (©180) : R Z (P 60)
RS ~ILY = 142. 502642766833tf-m
H A% kLo = 17.584000000000tF -m
REFRY = 8.104108437604

=10 = §1iZ (9 200-) : REE (P 85)
RS ~ILY = 180. 189973637460tf-m
HA%h kLo = 21.980000000000tF-m
REFRY = 8.197905988965

12 EE = 5 (9 200) : AE (P40)
RS ~ILY = 211. 115026321234t f -m
HA%h kLo = 26.376000000000tF-m
T2RHY = 8.004057716152

14 BE = 54 (9 220) : AE (P 85)
RS~V = 249. 008524209753tf-m
HA%h kvs = 30.772000000000tF -m
T2RHY = 8.092048752429

H16 EHE = S (© 240) : R4E (P 120)
RS~V = 285. 005285533666t -m
HA%h kLo = 35.168000000000tF-m
T2RHY = 8.104108437604

H18 I = 5 (9 240) : AHE (P 90)
RS~V = 326. 568556340659t f -m
HA%h kLo = 39.564000000000tF-m
T2RHY = 8.254184519782

20 EE = 54 (9 240) : AE (P50)
RS~V = 363. 513685946875t -m
Mo kLo = 43.960000000000tf-m
T2RHY = 8.269192128000

H22 EE = 5 (9 240) : JEE (D0)
RS~V = 380. 007047378221t f-m
Hdh kLo = 48.356000000000tf-m
TERY = 7.858529394040

e

S ) S A —

DY U —SRIRERAGE 94. 240574888542t f

D) A —SERERRAE 6. 149496950950t f
RE2HH 15. 324924240182
S | O S — Ay R
Ay FBREFE (ULITELS) = 595. 947560015369t F
Ay FRXFE (UL TELS) 16. 022698437500t f
RE2HRH 37. 193957206396
B R R S e e
EX FURNMAIEERAFME = 230. 718564479634t T
EX r VERIMIEBERAIE 4.970120000000t f
BE2HH 46. 421125542167

EX ~oERAIRERAGE 64. 465481251663t f
EZ FoBRARERARGE 1. 735887500000t f
REHZH 37. 136900433733

EX FRAIAEERAAE 16. 964600329385t
EX FRAIAEERAHE 0. 456812500000t f
2B 37. 136900433734
H+HHHHHHHH A — A —
A—42—J v aHRRAKFE = 107.517866976457tf
A—42—Jy il AE = 3.843000000000tf
2B 217. 9717587035248

O — A — B e

A—4—EVRRHE = 276. 515131387340t f

EERRAXHE = 28. 324000000000t f
REHEH = 0.762573484936
AMEFE{ERE = 20. 779000000000t f
RE2HRH = 13. 307432089482

T O A Y R

avAay FRAFE = 190. 000000000000t f

EHFRARE 28. 324000000000t f
REBRH 6. 708092077390
KRB ERFE{ERE 20. 779000000000t f
RE2HRH 9. 143847153376

H+H+HHH Y SO O

I95309 %7 FRAFE

b+

904. 778684233861t

I mn Ilu L | I T

EERRXHE 28. 324000000000t f
REHEH 31. 943888018425
ABEFE{ERIE 20. 779000000000t f
REHBH 43. 542936822458

++++++—++

i AU GTIBALL)
9529 EvhE
9509 xw—F)LhE
A—4 —rh2%e

XKooy FEE = 20725kef

BRKISVOHE 20401kgf

BAKO—4—HE 7686kgf

EIESR 2050rpm

HHHHHH T Ay RRBRER T S 2+

TEmM = 66.55F Acm(P11. 0%6. 05cm)
P = 30.52MPa (20725%0. 098,/66. 55)
') = 11.80m/s (0. 11* 7t *2050/60)
PViE = 360. 14 (30. 52%11. 80)

HHHHHHT S8 A A VT w S o

FIEEME = 31.90F Aom (P 11. 0%2. 9cm)

P = 31. 34MPa (20401x0. 098/2/31. 90)
v = 11.80m/s (0. 11* 7t ¥2050/60)
PViE = 369. 81 (31. 34x11. 80)

HHHH S 5 0 Ty S 4

FEEE = 31.90FAcm (P 11. 0%2. 9cm)

P = 31. 34MPa (20401x0. 098/2/31. 90)
') = 11.80m/s (0. 11yt *2050/60)
PViE = 369. 81 (31. 34*11. 80)

O — A — T S 0 1 B

EMEHE = 60. 265 AHom (D 26. 2%2. 3cm)

P = 6. 25MPa(7686%0. 098/2/60. 26)
') = 9. 70m/s (27. 40%131/370)

PViE = 60. 63 (6.25%9. 70)

A O — A — T S 0 2 Hbr

TEMEHE = 82.56F AHom(d25. 8%3. 2cm)

P = 4 56MPa(7686x%0.098/2/82. 56)
') = 9 .55m/s(27. 40%x129/370)

PViE = 43.55(4.56%9. 55)

-+

BAEEEE : 2050rpm

HHHHH R T S T NERSR (B ) HH

EE#Z = 6821Z (®105-® 130-13mm)
EAE BN E = 2020. Okgf

ERFHTE = 2440.0Okgf

HAS v D FBITHE = 0. Okgf
HALY D FREE = 33. Okgf

C/P0> 35 (#h3Z 1 fHXf-Y) = 404229.1

[E1#5 &%k (1000000/ (2050%60) ) = 8.1

ERFa (FHHETEHHE) = 3274255. T FE

A Y D REISR (2 2 58) HH

EE#Z = h4h (P 260-D 285-13mm)
EAE BN E = 4685. Okgf
EIERFAE = 5660. Okgf
HAS v D FBITHE = 0. Okgf
HALY D FREE = 158. Okgf

C/P0> 33 (8032 1 fEXf-Y) = 45970.3

[E1#5 &%k (1000000/ (2050%60) ) = 8.1

ERFG (FHETHE) 372359. A% FE

D L S T B SR

B e = 6916 (P 80— 110-16mm)
ERBTE =  2540.Okgf
ERBTE = 2450.Okgf
NIVITRTY) O G EfTBE = 300. Okgf
NIVITRTY VT EIERRK = 600. Okgf

DL D FNEIRTE = 150. Okgf

DL YD NSRE = 300. Okgf

C/PMD 3% (BA% 1 EX/=Y) = 38843.4

[EER{RER (1000000/ (1025%60) ) = 16. 3

EiEFa (MTETEHE) 633147. 485

e



